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Q1
. 1 kilobyte = 1024 bytes/~1000bytes 2
. 1 gigabyte =1024 x 1024 x 1024 bytes/~1000000000 bytes.
1024 x 1024 x 1024 = 1073741824
Q2
ROM 4
* Stores the boot programdbootstrap loader/BIOS
* Used to start the computer/Loads the operating system.
RAM
* Stores the parts of the OSiprograms that are running.. ..
. Stores the data currently in use
* ... Tor access by the CPU
{2 for each)
Q3
eq 1

. To return the results of processing




Q4

4
Field Data type
Song String
Length Real
Time=sPlayed Integer
Protected Boolean
{one mark per row)

Accept eguivalent names of data types.
MOT numibser, whole number, YES/NO or
TRUE/FALSE

Q5

Length = 2 :
. 001, 002, DD3, 007

Q6

Artist = "MC Nail® OR Protected = False:
" 003, 005, 0De, 007

song = “Skit” AND TimesPlayed = 0:

" 006.




